SHTERE

LhEhREBMFFTRES
BIKERIR st - 5-2)

H SM7E10A128(A) (FE=L)
%yyq; L ) FM7HE10A13B(A) (7))
o b s WhEHHE TGS
FE LWhEEERBE
17 71 WhES—UR—ILEKIGS
BHaXtRE
tEEJ Y
AR—VEHEE
HLED WhEEKIBHER M #E E sk
FELEDZEFE BHE
EEEDEER
AnlélE N
Pl LEbWDbEHRIE, AF—YEEL, @RRLENET
O, AL FEAIWEN WD ETZES D, 222 A

R—VHH ODESET 5,

1
1
1
1

. HNIRT, AR—=VERLALEL & 9,

L AR=YEEL, EONRLENLTEESIDEL L D,
. NEAEDET, AR—YDgLHEE SV EL XD,
. AR—=VEEL, KEOmEHIZOATEL X 9,

HAFN614-3 H 31 H




AT EPEV D & i R B A R EROR S R

il H

2

(A

3

fir

3

A

—fHF(S) A

— B 7 (S)B

il
— 1 (S) A
"
— 1 (S)B
B HIR
2R
S UR— BT (S)
7| s—vR—nkt(s)
|
V1%

BIOLLZETILA




10

w

=N

SM7410A12H

[BFLUTILRA]

FEE AKX | &8 FH TFH —hAk FHE &

HOF-H 5T RYS-k5 WhETTSAHLYY| 288K 5T

=5 FHAH XA BERE | FHE B IR

5N #1557 | vbhzax | wbhEage ||
=E B ;WA Bt 5 EE | BA ®1T
WhEags W& S5 BOE55F | FLUEDA |
FF B HIl BRE | BE #®E | B4R B

Wb E S Hotr57 | 2nEms57 | #0957

R & 2 HKREB ERE B— EO A
HOE957 A WhEEFRE [LbETTstLUY

B " &7 i | B 24 | B AF
HPOIH5T Lvh = S 3R Whzaxs | eaaxss5

AR fl— =H EfE NI S = KR E R
WhESEXRE HO=935T A VIA WhETISAHLLY

Bl K | TIWHE s —| 88 — =5 WE
HO=H5T gy 5T F—LUEDA HO=0 5D

Bl BA EE BA H¥ T2 |AAx =&
WhEER | 288KI5T | abrssT | vbEags |
KE K WE &Z2a | &k K@ =H K&
HPEH5T | LbhEsaxs WhESER  |LbETTSALLY

X FBY—F~RBF—F AL FTRTITYFIHF—L4

X FRY—FIE4ANT2EETTEHRIBELDEILITITS

XK =T VAR b—F A b

X ZFELHBEICRBLABICOVTHED D

[(BFL>TILRB]

EH EE B == Wx |58 #— E3=1 &3z

Es IEf
(WhETTISHL VD)

BX
(WhETTISHL VD)

= HBEX
(WhEsaxs

HH f#—

(& A)

¥ 1XYFEHF—LTITS

X B/HTY—FATHEIZTS

[ZFOUTVAA GR OB

BiEwE | kR |
(HT=9357) (HOT=9357)

KEBEWBFOUTILAKRTE

1YY F 57 —LTHTS




(8 F H #&]

SM7EFE1I0A12H

A #

1

2

3

F—Ls

HRT=UZTA

F—LUEDA

ERXEBKIST

N
it
>
o

& Gz

AHART=0ZTA

F—LUEDA

EREHKIST

B #

1

3

F—Ln

DWHEEERZA

AVZA

WhETTSAL VY

N\
Ain
~,

7

g iz

LWhZEEFXREA

IVZA

WhETTSALUD

cC #

1

2

3

F—L

#HX1=957TB

LV HEEBKB

F—LUEDA(Z F)

N
At
>
7

[ v

HX1=95TB

W EEBkB

F—LUEDA(ZF)

D #

1

2

3

F—L

LWHEEEBRA

HX1=93TC

WhEEXREB

&

N\
An
M
7

LHEEERA

AHXT=05TC

WhEEREB

KPR T ~RBE—FT A PIRTITYFIT—LTITS
X FREY—TICOVTEHLFEETITLWFEOREICRMKEE 2

X ZFORBERVCAEIZOVWTHRD S
MR TEMOBGRTREEN—F A FMIOWTIEY Yy FOIERRVEHICEZELH S
X ASAFICEEREZTRELET

(58 FE &R

A1

B2 C2

D1

C1

D?2 A2

B1




